13.1 Answer the following questions about the first declension.

1) When you encounter a new vocabulary word, how will you know whether it is
declined like BouAn or Bed or 6aAacoa?

2) Compare the paradigm of 8€a in the singular with the paradigm for BouAn in the
singular. How would you describe the differences (if there are any)?

3) Compare the paradigm of Oga in the plural with the paradigm for BouAn in the plural.
How would you describe the differences in case endings (if there are any)?

4) Compare the paradigm of OaAaocoa in the singular with the paradigm for BouAR in
the singular. How would you describe the differences in case endings (if there are
any)?

5) Compare the paradigm of Bed in the plural with the paradigm for OaAacoa in the
plural. How would you describe the differences in case endings (if there are any)?

6) Compare the paradigm of 8€a in the singular with the paradigm for 6dAaocoa in the

singular. How would you describe the differences in case endings (if there are any)?



